o
(¥

o
=
5

o
i

<3 @> (rad)

X
fay
o

&
o
(¥

X
fay
o

&

< 5 cot(®) >
=
a1

..................

..................

TTTTTITIT I TTTT

H1114HH o8 ﬂq-
. 4 1y .

L.
| 3

OO T

1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

_Ul‘k%i_lldl SLE] ((Oar-prrast L=-TTewgeoTIT
—mKFit_sTepZ_ftpar-| ﬁjasel-new eom
o S e e e
_plxe‘rgPE P

W

wgeom
neric_step2 ltbargpﬁasel-newgeom

— 100

: : S
F 1 :— . : ar - 3 SOt T - AHE-H A -
: : 1 N
G4 i = ool -4t
1 1 2o}
: )3 v 40T
B 0 ; 20l i ;

iy

i

<op/p, > (%)

il 1 114 [ Lol ‘B
il il et el e T
0 oL -
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

£
S
e
==
T n . n

T [T T [T T T T [T T T T[T TTTT

0 12 3
TP n (PCA to beamline)

o[
|
N



	Contents
	Page 1


